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Page 80 Exercise 2.55
Change the question from Find (Ia)15 6% to Find (Iä)15 6%.

Page 81 Fourth line of Section 2.9.
Change (Da)n + (Ia)n = (n+ 1) · än . to (Da)n + (Ia)n = (n+ 1) · an .

Page 117 Second Line.
Change (δ − g) to (δ − ḡ).

Page 124 Second Line.

Change (Da)n =
n− an

i
to (Da)n =

n− an

i
.

Page 169 Solution to Problem 15.
Change Answer E to Answer D.

Page 224 Solution to Problem 13.
Add “Answer D” in the end.

Page 287 Exercise 6.13.
In the table, the top right cell should have sn to indicate spot rates instead
of in−1,n, indicating forward rates.

Page 533 Solution to Question 3.
Change Answer D to Answer A.

Page 533 Solution to Question 4.
Change Answer C to Answer D.

Page 534 Solutions to Questions 3 and 4.
Solution to Question 3 should be the solution to Question 4. Add the
missing solution to Question 3:
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To find the initial payment amount:
Set N = 360, I/Y = 6.4/12 = 0.5333, PV = 150,000, and FV = 0. CPT
PMT= −938.26.
To find the balance after 12 years, reset N = 144 and CPT FV = −120,160.54.
To calculate the new monthly payment, reset N = 120, I/Y = 5.8/12 =
0.4833, PV = 120,160.54, and FV = 0. CPT PMT= −1,321.99.
Suggested calculator technique:
In the second step, set N=216 (number of payments remaining) and CPT
PV = 120,160.54. (This uses the prospective method instead of the ret-
rospective method that was used above.) This way you will already have
120,160.54 stored in PV and 0 in FV for the third step. Simply enter N
= 120 and I/Y = 5.8/12; then CPT PMT= −1,321.99.
Answer A

2


